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Question: 1

Below are given different forms of 5 sentence |sbeled as {a). (&), (c) and (d). Choose the one

which conveys the meaning of the sentence correctly

{A) The dacoits having been stopped for dividing the booty, the police overtook them.

(B} The dacoits having stopped to divide the booty, the police overtook them.

[C) Since the dacoits stopped to divide the booty, the police had overtaken them.

(O} The dacoits being stopped to divide the booty, the police overtook them.

Ans:B

The dacoits having stopped to divide the booty, the police overtook them.

Question: 2

Below are given different forms of a sentence labeled as (a), (B), (c) and (d}. Choose the one which conveys the

meaning of the sentence carrectly

(&) Since the committee lacked needed power it could not deliver the expected result.

(B} Since committee did not have needed power it has not delivered useful result.

{C) Since the committes lacked needed power it would not have delivered expected result

(O} The committee was useless because there was no nesded power to it

Ans. A

Since the committee lacked needed power it could not deliver the expected result.

Question: 3

Below are given different forms of a sentence |abeled as (&}, Ib), () and (d). Choose the one

which conveys the meaning of the sentence correctly.

(&) As zoon as holidays begin than this beach will become very crowded.

(B} As soon as the holidays begin this beach will become very crowded.



(C) Mo sooner did the holidays begin than this beach will become very crowded.

{D} Since the holidays being started this beach becomes very crowded.

Ans: B

As soon as the holidays begin this beach will become very crowded.

Question: 4

Below are given different forms of 3 sentence labeled as (a), (b}, (£) and (d). Choose the one which conveys the

meaning of the sentence correctly.

(&) The report was ussless to them because there was no nesded information.

(B} Since the report lacked needed informiation it was of no use to them.

{C) Bince the report did not contain the needed information it was not real useful to them.

(D} Since the report lacked nesded information it would have not been useful to them.

Ans: B

Since the report lacked needed information it was of no uze to tham.
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